50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.
1 a. With an illustration explgun co;;structlon of engine lathe. < ’ (10 Marks)
b. Differentiate between thé' ‘following: E%g
i) m;%&y
ii) (10 Marks)
AN
2 a. Withan 1llustrat10n explain column and ki 1€ type milling machine. (10 Marks)
b. Give a brbad, Cclassification of grmdmg> machines. Explain horizontal spindle reciprocating
table suﬁ’rface grmder % (10 Marks)
@@
‘ﬁ%ﬁw
3 a. With an illustration explaip the’ followmg.
i) Thread cutting operatlon %
ii)  Horizontal and vertical shaping operati ns. 4 (10 Marks)
b. Differentiate between the following: ‘
i) Drlllmg and- bormg operating
ii ‘milling operations (10 Marks)
4 Explaindhe thllowmg operations:y, CayY
a) Plan g b) Slotting Gear cutting  d) Gi“‘fﬁﬁing ing. (20 Marks)
o » V/ egﬂt”&t"@ §§ M 0 d \
5 am_f s xplam the des1rab1e pro%ﬂertles of cutting tool materials. (05 Marks)
j explam geometry of single point cutting tool. (10 Marks)
ids and mentlop; its‘Characteristic? (05 Marks)
¢ S OR
6 a. lowmg i) Speed, i) Feed iii) Depth of cut. (06 Marks)
b. A brass pm is of 500mm ,1ength and 40mm dlameter Fmd the turning tlme to reduce the pin
&

(08 Marks)

1:6f2
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U % Module-4 Q)
With an illustration,m onal and oblique ~bugig§?;é%£dcess. (10 Marks)
With an illustration e)é thants circle model Q%*F orthogonal cutting process.
N 2 b (10 Marks)

.
" T <

OR A
In a orthogonal cutting process following datz% were observed, chip thickness ratio is 0.4 and
rake angle used was 20° and depth of cu@ﬂ@ﬁm. The horizontal agﬁ%ﬁg@rﬁcal component of
cutting forces Fy and Fy where 20001;@'%3@&7?7200N respectively. Determine the shear plane
angle, chip thickness, angle of ﬁictiggﬁé%&"yresultant cutting force. w. (10 Marks)
An experiment was conducted o %w‘:fld steel tube of 200%ﬂdi‘5meter and 3mm thick. An
orthogonal cut was taken wit%ﬁéf%tting speed of 80mm.a 1d,,0.15mm per revolution feed
with a cuiting tool having, “c\k rake angle of -10°."‘5f§% was determined that cutting
force = 150N, feed force = 40N» Net horse power for cutting was 3hp and chip thickness was

0.25mm. Calculate the @Qgﬁ strain and strain energ%r volume. (10 Marks)

= . Module-5
Define tool life afi@a‘%xplain tool life equation by Taylor relationship between cutting speed
and tool life. k_f @;“,, (10 Marks)
Using Taylarian tool-life equation for nf;ﬁﬁgﬁ'ing C-40 steel with 18-4-1 HSS cutting tool at
a feed %f@%@;ﬁﬂrev and depth of cut a‘gpf'”".?mm. The following V and T observations have
been noted.

0y

1V (speed), m/min
1"TATime), min

Calculate : R 4
i) nandCin Taylorimaébq_uation
ii) Hence recommer@,ﬁg@éy cutting speed for a d sired tool life of

¢ OR £

: ff\. (Vi :9‘ ! o~
Discuss the vana%gpn of cost elen}ﬁpﬁ& %véglth cutting speet
) W

(10 Marks)

in a single cut, single pass

& /,;’

machining operétjon. N ¢ (10 Marks)
. a9 . . . . o . = 4
Explain the glgllowmg in connection:v /process:

i) Tgdl life for minimum costy

i) Minimum production fime J
iii) "Machining at maxi@;g;& efficiency. & (10 Marks)
4 N\, |
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